Homework is due TODAY in recitation.

Poppers start TODAY!!
You must have the proper form.

Quiz 1 closed on Saturday.
Test 2 starts on February 14th.

Registration for Test 2 starts on January 31st at
12:01am.

Please tell you high school friends and former
teachers about our
High School Mathematics Contest

February 9th
University of Houston

6} http://mathcontest.uh.edu
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Use a Now 2 Pencil. Do Not Write Outside of This Box.
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: = e[

3. The answer is —2.1356.
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4. The answer is —23/421

=2 30420

5. The answer is 0.5.
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6. Give the slope of the tangent line to the graph of f(x) = & —3x
at x=0.
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7. Give the domain of the function g (x) =In(1 — 3x).

1. x>0 lurye (2, 3 Y
2. x>1/3
(B)x<1/3 or >
4. x<-1/3 | - 3X PO
5. None of the above. |
3 7 hal

‘Write the number associated with your answer choice.
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Today...

Inverse Trigonometric Functions

Section 7.7




Question: Is this an invertible function?

J(x) = tan(x)

Question: Is this an invertible function?

S &) =sin(x)
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These are invertible functions!!
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This function is inv LI’llhlL, and we denote

its inverse by tan™'(x'} or arctan{x) =
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Question: What is the derivative of arcsin(x) ?
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Question: What is the derivative of arctan(x) ?
Loy = Fan by o (-
e
g;“(f\ —_ OQ(\\C*OTH (XJ

pﬁma\‘m(*\: (.Qily/)c)t l
M e

a’o} *>0

x!Y\TF Ve

[y = see’rx)

= 1
Sec* (o)

j}(m\ =X

Yan (o) = b

d =1
ol (03) S__H’?“S ;(-;Lo\rohn 4s) o

::\“"3(




Chamn Rule Denvative Formulas Consequences Example: Give the domain of f(x) = arctan ( In(x)) and find its
_— — derivative. "'———'t;' —
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Example:  Give the domain of g(x) = '.Litil]li % | and
8. Gve the slope of the tangent line to the graph

find an equation for the tangent lie to the
3 graph of this function at x = 0
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Example:  Compute _[
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